CPCTC and Parallelogram Test Review
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3. Given: .LHU £KLJ and A] = K]

Prove: FG = JH
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It is recommen

L CPCC

ed that you review all proofs for parallelograms
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2. Given: NP = SPandPlsthemldpomtofOR

Prove: ZOPN = £RPS
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4. Given: LABC = £CDAandAB || CD * B
Prove: BC = DA
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Given: PENS is a parallelogram

Prove: PEENS and

EN=SP N
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Prove: LMNO is a parallelogram

Given: ON =ML and LO =NM O N
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a.

GHUJ is a parallelogram. Find the value of each of the following variables.

.a.ﬁ=§x—4andﬁ =5x+12 i b. 2HG] = (11y + 68)° e‘znd LGHI = (13y + 4)°
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9. Determine the value of each variable that wogd make the following a parallelogram. Explain which converse 2=6

property would make it a parallelogram.
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2XE26 -5 180
XA =186
X = |59
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10. The following figure is a rectangle. Find the value of the given variable.
a.XA=2x+4and WA =3x -2
QXN = 3L
= Y=
b.XZ = 6x — Sa)§YW =2x+19
qu‘o' «%XH‘? =24
x-5<= a e
Hx=2 X=b

c.YA=x+3andXZ =5x—9
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